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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions Maximum Marks Time Duration

each section

General Awareness 25 50 60 minutes
Reasoning/General 25 50

Intelligence

English Language (Basic 25 50

Knowledge)

Quantitative Aptitude 25 50

(Basic Arithmetic Skill)

Total 100 200



SSC CHSLTier-11

Subject

. Pattern

M wnrrn bve e
of
Ouestions

T e allowed

Sessiomn-1

(2 howrs

Al
minuwtes)

15

Sectiomn-1:
Mlovddualle-I: MMathematical
Shilinres

MTovddulle-TH:

and General Intelligence.

Reasoning

30

30
Total = &l

Sectiomn-TI:
NIl le-N: English
Languagse and
Comprehension
% EaTs DTN s

SAovrareness

CGreneral

<3y

20
Total = &)

1 howur
( for each
sectior )

(1 hours ard 20
minutes for the
candidates

cligible for
scribe as per
FPara-2.1 and 8.2)

Sectiomn-TIK:
MTodwmle-N: Computer
Knowledgze Miodule

15 hMimutes

(20 muanutes for
the candidates
celigible for
scribe as per
Para-8.1 and 8.2

Sessiom-—TT

Sectiom-TIN:
T aoraclnnle—TH = Skill Test'

Twping Test Module

Farit . W
Skiall Test
for IDEC s

1S5 Mhlimutes

(20 muaunutes for
the candidates
celhizmble for
scribe as per
Para-2.1 and &.2)

10 Mviimutes

(15 mmuaumnmnuates for
the candidates
celizible for
scribe ;s Pper
Para-2.1 and &.2)
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The length, breadth and height of a room are 7 m, 4 m and 9 m, respectively. Find

the cost of whitewashing the walls of the room and the ceiling at the rate ot ¥7.50 per

m?2

Ueh ShH shl TS, TNSTS IR TS ShHST: 7 HieT, 4 HieT 3R 9 HeT B T 7.50 Ufd Hiew2

shl T © ShHY shl SIaRT 3T B YT T%hal hi hi oI JTd shIT | _
(o= 226 K1S
— \69S% a) 1,965

b) ¥1,695

c) T1,968

d) T1,698
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Find the selling price of an article 1f a shopkeeper allows two successive discounts of
5% each on the marked price of Z80.

Ueh ] o ToTsha e ST 3L T Teh ohER 80 o fehe Te T Sedeh 5% h af
ShfHeh < adT ol

a) ¥76.60

b) ¥72

c) ¥72.20

d) ¥74.40




Which of the following numbers 1s NOT divisible by 15?
frfaRaa & @ 9 € e 15 @ favrsa 78 22

s —2A5)

8)2 95 - 9»‘

&) N
U{gﬂ =2
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If sin © 2\/3/2, and O is an acute angle, find the value of cos 30.
afe sin O =\3/2, 3 O Teh =g 10T &, dl cos 30 T A T hifsTy)

"\'9/\\ A
é\ﬂ (9‘:__% — 6\(\60 /\:\lT \ Q@
I "
\CE - C-gvg@\o’v@}* —Sody
A Com(o/\g“(‘@ 3
i 3"\“?\#5 20 } -

d) 0
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Simplify (T shileT0)
(5% 5% §x §x §) x (Ix §x 8+ 5= (125)

=% ) i (133D
K ?\o N v
> S _ \25
? n b) 21
RS . (B2
= < =\ 70
~ A\ \33:'13) ) c) 13

: Q\S\g\ \ d) 14
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If the length, breadth and height of a cuboid are 7.5 m, 22 m and 13 ,

respectively, then find the volume of the cuboid.

i Teh TATH shT TTaTS, = 1STS 31X ere shuen: 7.5 #Y, 22 Hi iR 13 T ¥,

c) 4215 m3X

d) 2154 m3 X
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What is the average of first 10 multiples of 6?

6 o Tget 10 T[UTSTT T STHA T 82
6 \Q| L — ¥y &=
guvm P :L\‘[Q%Q} a) 55
2n
- 1e® (6xeo) e
bl
= SRS San ) }
- AN ¢) 60
ol sty
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The price of a bike is ¥75,500. What will be the price of the bike after a

reduction of 17%?

Ueh T3k <hl SHIAA 75,500 T Bl 17% <hi SHHET < ITS ST3h <hl ShIAT

T g2
¥68,650
q55dd %82 - 62665 ! o

W b) f68,680X
( EEL \\> C) T62,665\/

d) 62,650 X
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If the compound interest on a principal for one year is ¥350 and the

compound interest for the second year is ¥420, find the rate of interest.

e Torsl TeTe U% Teh o1 ST <kl g, SATS 2350 2 SR T6X a9
TAshdlfeg, SATS T420 7, AT AT hl T AT HITST0)
a) 30%

=So
b) 20%

c) 25%

d) 15%
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@'The area of quadrilateral is 336 m2 and the perpendiculars drawn to

one diagonal from the opposite vertices are 16 m and 12 m long. Find

the length of this diagonal.

TAHST T SAHET 336 T HI2 B 3R Teh Tarenut oX faodia s & ©i<r T
AT 16 HieX 3R 12 H & g 39 {Ih0T 6kl a8 ATd hITSTUl

A= L FrC () 2
Vo™ et |
—5/‘-’56/7 _/%(7L hG=s /_%\ - a) 28 cm
g’\\’\ , | _'UA ; b) 26 cm
P\Q 8\\'\\(\'\ c) 21 cm
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3 men and 7 women can complete a task in 10 days. On the other hand, 4 me
and 6 women, take 8 days to complete the same task. How long will it take 10

women to complete the same task?

3 9% 3R 7 AfeeTd Uen wh1el et 10 feAt # o e wend ) gadt o1, 4‘1‘6‘5r3ﬁ'{6
nﬁﬁmwwﬁaﬁwaﬂﬁﬁsﬁ?wwﬁ%% et T Y 10 nﬁﬁwﬁh—cﬁ

H‘H’Jﬁ‘{i‘f@ﬁ" g Time = L\‘@Cb
(w7 ST ~4roob~(})g

NN a) 36 days

b) 43 days

c) 48 days

d) 40 days
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What 1s the volume of a cylinder with radius 15 cm and height 119 cm? (Take TU = 22/7)

15 9T 3T 37T 119 THt =TS dTed st AT ST T 27

\[ = 22 |SX\SAUE |

- \\a G
Rl

= 'S¢, b) 45140 cm3/

l._l_l
c) 84510 cm3y
d) 85500 cm3 X
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A table fan, passing through two hands, 1s sold finally at a profit of 30% of the orlgal

cost price. If the first dealer makes a profit of 25%, then the profit made by the second
dealer 1s:
a1 AN ¥ TSR 1T Tk Sofed thel 3dd: el AT Hed 3 30% o TH U S=T STt &l Afe
JEAT SATIRT 25% ohl ATH FHHTAT &, df &9 ‘i\\ R g 7SI 1T &
9%
_ a) 5%
b) 10%

T é\W\o\kSP
106 I RN PSR
c) 15%
d) 4%

ramy
(S KX
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A rectangular piece of paper 1s 52 cm long and 22 cm wide. A cylinder 1s formed by
rolling the paper along its breadth. Find the volume of the cylinder.

HTTS] o1 Ueh SRATHT Zohel 52 HHT a1 3R 22 HHT <ATST 8 hITTST shi SHAT ST o
(SR FHTRL Tk ST ST STTT & et ol SR He ehifsTg|

a) 1870 cm3

Q2002 cm3

c) 1030 cm3
d) 1290 cm3
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A few boys and a few girls appeared for a test. The average score of the boys was 52

the average score of the girls was 72, while the combined average was 60. What was the
ratio of the number of girls to the number of boys who took the exam?

HS TSeh I FS AShdT T H IMHA GY| TShl b1 ST 37k 52 AT, TSRl 1 T4

3{eh ThIX 72 AT, STelioh §Ieh STTET 60 AT THET I STeAT TSRl 3ht HGAT shi TS ohl HEl
€ AT ST AT

CN\(\%
S
6{2 \> b) 13 : 18
i ¢) 18 13

: &J d)2:3
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The number 123456 1s divisible by

G&AT 123456 e & 9 fore@ fovrsa 29
| 2BUSo
(e i
N - c) 56

d) 7
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Thevalueof272—l6+ [119+ {1491 +3 (21 — 13 x 8+ 4 x 3)}] 1s.
272#16+[119f{1491f3(21—13><8+4><3)}]WII'FT%I

. »

c) 8
d) 11
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